TRANSFORMATION CARDS

1 0 O -1 0 O
Reflect over x-axis M=10 -1 0 Reflect over y-axis N=/0 10
0 0 1 0 0 1
010 _ _ 10 1
Reflect over y = x P=l1 0 0 Translateright1unit |, | _,
and down 2 units
0 0 1 0 0 1
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] 1 0 2 2 00
Translate left 2 units z=lo 3 Scale by a s=lo 2 o
and up 3 units factor of 2
00 0 0 1
Scale by a 05 0 O 1 05 0
1 U=0 05 0 Horizontal shear V=0 1 0
factor of —
2 0 0 0 0 1
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o Cs : C
1 0 0 0 -1 0
Rotate 90° CCW
Vertical shear wW=105 10 . X={1 0 O
about the origin
0 0 1 0 0
. -1 0 O . 0
Rotate 180° CCW v=lo -1 o Rotate 270° CCW 7-1-1 o
about the origin about the origin
0 0 1 0 0
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